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RFI, = RPI';, if RPI';, < TEPJ,
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2.1.3. A=

convZ @ W{ AEAF Hejgole] 7g ¥ &(90Q 71E)

conv3 T/ MERF thFolg 7IE ¥&(90d 7E)

convd © FI{H AEAF SFold YIE vI& (909 7IE)

convl0 : | F 4&4/718 JoF A& ¥1&(90d 718

convl2 : ZrE-AtFtol 9] 71e AY[{F A2 A/AF AEA v])-&(90
d 71E)

convl3 | SEAEF HEAF FAFl Jlg W& (90 7F)

convl9 @ 78} FAENEY/(FLE FEQ-TE FAELEY)
H & (9043 718)

expol : FERH(HE/ Q)

dgai SHFHE/D)

gdp : =l (1044, F)

gnpdef : gnp Y =X olE (19901 7|F)

incom : 10%9A5(TA, 909d 7l& 43)

mmai @ (AP AZHIEZFHE/D)

pop : FAF(HI)

rdel; :

rdzi :

FAFLE(924F
-rfpdi : APRZHH (909 Z1E 4A)

rwage : SH=Y(904d 7|E 4H)
rtei ¢ /A HEHE

tel @ BAAAZH
tepi : FU7HE (903 71E AA)
wpi - TAA(D/kg)



DOrpii : 1 F59 19904 % s7HRui71E (4, i$599Y)

2.1.4. WA

dihat © A& &Y F(HE/J)

impsumi : FYFHE/D)

perdthat : 199 A8 % (kg/d)

pigthat @ F54 A&A(xd, 90d 7l& 43)
qihat : PAF(HE/Q)

rpithat  © AAA7HA (90 drlE 2 E)

selfthat @ AFE&(%)

tpighat : AwlY L&A (2, 90d 71 43)
tpiglhat : &4+ 4

tphat : ZE&E 714 (903 71€ 44)

tplhat : E4E 714 (904 7I€ 44)

ttp : AR ARZHH (909 71E 4A)

wi: $HEASAF F58 29 HF

9) F54 99 71&E:
1: 80kg(B3), 2: 1kg(FZ), 3: 72kg. 4: 40kg. 5~6: 1kg(X¥A)
7: 60kg. 8: 3kg, 9~10: 1kg, 11~12: 15kg, 13: 4kg,
14: 1kg(€¥+), 15: 1kg, 16~18: 1kg.
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eagemp : 753 €43
eagland @ ¥4 AEAE B4 3
eagmde : 7]E/d AR AE @A R
eagggu : ATEF JEAE @43
eagdrain | §F70E AEAE 43
eagflat - B2 4225 @yx
eagsb : YA EZ @A

2.2.2. 4
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gsb: AEY AAY AR (A A7)
gsbl 1 447248 ALdAF(Rnd, 44)
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rlivstdef : 44 S5 A 713 Wl g

2.3.3. WA

add: A RII7EA) (24, 90d 7% B)
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adds : FPAH & BI7ER (24, 904 71 B
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vahat : ui] RI717HA) &
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TSP 43 €7 TSPE U ekx Enter7 reuh.
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o C:\)
O C:\)CD TSPy
O C:\TSP)TSPy

S22 TSP iiddez Eoj7id "HAE vdzm 93 vwdo]
250 gle Y F2(B:\)E A¥sta, LOAD 3% H3
Bd & #(Ram)ol FFAZ.

O CD B:\v
O LOAD EXAMy

1

A3 #Hdo] H(Ram)ol AFHW WA dAx FHE HAHsn
%, SHOW %H#H3} &4 eqlple dH3&la Enter?]| & ¥t} o
5 ofgf| dle} Zo] AAZIARAGR R7E7E PC 34 VeRhdT)

o

O SMPL 1993 2004¢ - =73t 4% ¢

O SHOW eqlple : AA7MARY X g A o
yvear eqlpl
1993 0.11
1994 0.11

2004 0.11
g R AAAARYA FAAEE $HE 23 DATA 935
W eqlpl® YHSHE Gt o 3% A2E VA d=dz 9
g "otk Enters]§ Felok 3v, $AAYE FEANI AMAE
JREA x & YYD Enter7 B gt RYAE $Hol B
5

Ul SAVE B30 8 AMgsted 573 g AR

i 4
i
rl
2
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C DATA eqlple : & AAe] AAZMH @42 A8 % d
year eqlpl
1993 0.10s
1994 0.09¢

2004 0.07¢
2004 x o

O SAVE EXAMuy
3H "drE gde dHE FAAFY s deH 2o |
A EDIT B4 ol &siM H2E #d$ PC std 2 ¥+ £
A5 olg% A5 E PC A FF At (1= d2E Hdd
Ne e ¥3 g FAF o5 A8rt 7159 3. EDIT &
doll FdAFE FHFR, H2E 3dE APt FEAYL T8

2.
g2AE B FYE & FEE&(rdeD) S F3E de O3} 20

11) 99doz 92 Hdod FYAEE BIste Rol By &AHHo,
a8y vlolzz TSPAME 43 wdud 4 2HAE 42 50070

T=E
oz A Y. HH=E olg WFES HA LA BT 7

+ 9-28 AEE 50070 o1l €. "y g ZL WFEL
Zead ddeM BYSFAHEFEE &9 ZFFE: ARE FTAF
28, FAEFE AEYF VIE FF5 ¥E, 90dx FEE A4
4, A A F34 ITANE, vERPHA AEFE wdAA
2z Hg FHLEE
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O FAH o :
d1=(1-0.04)*(q1(-1)+mmal+impl-mri*(ql(-1)-
gxlhat(-1))+enter1)-dgal-0.0075*q1(-1)
@ rdell=0.04 (ZF2&), rdz1=0.0075(FA +88)

O FAE A :
d1=(1-0.05)*(q1(-1) +mmal+impl-mrl*(ql(-1)-
gxlhat(-1)) +enterl)-dgal-0.0075*q1(-1)
@ rdell=0.05(32%), rdz1=0.0075(ZA +28&)

4. ARAHN =

Eqxtge £3zgol Fadd 39A dIyPS DAk HIFHo=
ARAzrt Aedot

1942 Agds 73e A F SMAXIT? 4% UEE
3002 A, Loz SOLVEE)Y WHez F =Z=239
(AGIPRO1.HWP)& A#std 7= MAARAYES UR $AHEY
A olgAYF MMA F4Z9 121 A59 AY|Eo] AzdH?.

12) SMAXIT+ cotolE#lo] A (iteration) M FAFE AH3}es F4o
ok, 7 SMAXIT S48 AAsA goe¥ UZE I AFHo=
100°) €t WY O ZE 3 100 ololA 73 37t dEHE E F
A7 AT 328z gL A$ SMAXIT 4% 34 dEE e =
2] Folof Frt,

13) ( )Y EE SOLVE W3 <& x5z oz xY3t= Extend Search
|Aolt}. wetd SOLVE WEel #¥ d& 22 R ZHAFdx
Extend Search €41 ¢ F7lsld #3 &7t #old 4 Ut

14) 194l E F71+A(IMPTEi )°] ¢le Aoz 71AsHT. o 3%
EXAM 92 g4y IMPTE © &5 0°]t}.

17
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© SMPL 1993 2004
0 SMAXIT 300¢
0 SOLVE(E) AGIPRO1.HWPu

28A2 FEEE F7 £94& BEsy] A8 RUN #3222 Bz

22 3W(AGIPRO2.HWP)S A#sldH FrtedF Agxrt =€
=

© RUN AGIPRO2.HWPu

uix| et dAl2 SOLVE(E) 33ezg F T2 I (AGIPRO1.HWP)
2 APAF|E 29A NN A2 %7 59 A7 F Z2add
FewA, J2HoZ UR HAEEAY 2472 APAGALL &
otgt AwAs 4EHC

0 SOLVE(E) AGIPRO1.HWPy

248 4% s Rol SHOW ¥H o2 PC sde] A o
=92 B 4 o 2 ANE, 48 2vF, ANAE, 9T A
A 47 dE o 2t

0 SHOW Q1HAT DIHAT RPI1HAT IMPSUM1s
year qlhat dlhat rpilhat impsuml
1993 5029.4 4584.0 106.5 0.0
1994 4972.7 4652.8 101.9 0.0

2004 4668.4 4551.8 99.2 205.0

2 R

93#

Ag v ARANE, FUF AYAE TAET 3
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HA TSP Jd4ualx PON ®¥¥eoz axsta, o

©°2 PRINT B33 &4 sid A%=x
2% "o},

ZTHE &
Wy S A3l Enter?)

ty do Ho

4

O PON¥
O PRINT QIHAT DIHAT RPI1IHAT IMPSUMI1v

year qlhat dlhat rpilhat impsuml

1993 5029.4 4584.0 106.5 0.0
1994 4972.7 4652.8 101.9 0.0
2004 4668.4 4551.8  99.2 205.0

viAlgo 2 SAVE B3 2 AH&std APAE EXAM ool A%
33, EXIT B3 o2 TSP T2 gdgtes wx o Awgd

B NEHAe BT BUA B

O SAVE EXAMys
O EXITs
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5 1. $UPE 3INE A% T2y

1. & =233 AGIPRO1.HWP

@ starting & ending year 1993 - 2004

@ production, consumption, price in the cultivation
assign gl qlhat dl dlhat rpil mpilhat
assign g2 g2hat d2 d2hat rpi2 rpi2hat
assign ¢3 ¢3hat dd3 dd3hat rpi3 rpi3hat
assign g4 g4hat dd4 dd4hat rpi4 mpidhat
assign g5 ¢bhat d5 dShat rpi5 rpiShat
assign g6 g6hat dd6 ddGhat rpi6 rpiGhat
assign (7 g7hat d7 d7hat rpi7 mpi7hat
assign g8 gB8hat d8 d8hat 1pi8 rpilhat
assign ¢9 g%hat d9 d9%hat mpi% midhat
assign 10 ¢l0hat d10 dl0hat rpil0 1pilOhat
assign 11 gllhat d11 dllhat rpill rpillhat
assign 12 glZhat d12 dl2hat rpil2 rpil2hat
assign ¢13 ¢l3hat d13 dl3hat rpil3 rpil3hat

@producﬁon, consumption, price in the livestock
assign ¢l4 ql4hat d14 dl4hat rpil4 rpildhat
assign 15 ¢gl5hat d15 d1bhat 1pil5 rpilShat
assign ¢l6 gl6hat d16 dl6hat mpil6 rpil6hat
assign ¢l7 ¢gl7hat d17 d17hat rpil7 rpil7hat
assign 18 ¢18hat d18 d18hat pil8 rpil8hat

@ revenue & price in the cultivation and livestock sector
assign tpig tpighat tp tphat tpigl tpiglhat tpl tplhat
@demand & supply forcasting by agricultural commodity

@ rice(no.1)
al=ql (-D*(eqlpl+(dOpiDApil (-1)+eyl wg*(d(rwage) /rwage(-1)+1 +gamax)
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rpil=-(1/edlpl)*(edlinc*(d(incom)/incom(-1))-(d1/d1(-1))+1
+(d(pop)/pop(-1)))*rpil (- VD+rpil(-1)
d1=(1-0.04)*(q1(-1)+*mmal+enterl)-dgal-0.0075+q1(-1)
@rdell=0.04 , rdz1=0.0075
impsuml=mmal

@borissal(no.2)
q2=¢2(-1)*{eq2p2+(d(rpi2)/1pi2(-1)) +eq2wg* (d(rwage) rwage(-1))
+eq2p8*(d(rpi8)/rpi8(-1))+1+gamax)
pi2=-(1/ed2p2)*(ed2inc+(d(incom)/incom(-1))-(d2/d2(-1))+1
+(d(pop)/pop(-1)))*rpi2(- D+rpi2(-1)
d2=(1-0.04)*(¢2+imp2- (q2-gx2hat)+*mma2)-dga2-0.008+¢2
‘ @rdel2=0.04 , rdz2=0.008
impsum2=mma2+imp2-(q2-qx2hat)

@pulse (no.3) : dd3=d3+dga3
q3=¢3(-1)*(eq3p3*(d{rpi3)/rpi3(- 1)) +eq3wg*(d (rwage) /rwage(-1))
+eq3p7*(d(rpi7)/rpi7(-1))+1+gamax)
rpid=-(1/ed3p3)*(ed3inc*(d(incom)/incom{-1))-(dd3/dd3(-1))+1
+(d(pop)/pop(-1)))*rpi3(- 1)+1pi3(-1)
dd3=(1-0.02)*(g3(-1)+*mma3+imp3-(g3(- 1)-gx3hat(-1)))-0.03*q3(-1)
@rdel3=0.02 , rdz3=0.03
impsum3=mma3+imp3-(q3(~1)-qx3hat(-1))

@corn (nod) ' dd4=d4+dgad
q4=q4(-1)*(eq4p4*(d(rpid)/rpid(-1))+eydwg+(d(rwage) rwage(-1))
+eq4p10*(d(rpil0)/rpil0(-1))+1+gamax)
1pi4=-(1/ed4p4)*(eddinc*(d(incom)/incom(-1))- (dd4/dd4(-1))+1
+(d(pop)/pop(-1)))*rpid(~1)+rpi4(-1)
dd4=(1-0.007)+(q4(-1)+mmad+imp4- (¢4(-1)-gx4hat(-1)))-0.01*q4(- 1)
@rdel4=0.007 , rdz4=0.01
impsum4=mma4+imp4-(q4(-1)-gx4hat(-1))

@potatoe(no.5)
a5=y¢5(-1)*(eq5p5*(d(rpiS)/rpib(-1))+eqdbwg* (d(rwage) /rwage(-1))+1+gamax)
pi5=-(1/ed5p5)*(edSincx(d(incom)/incom(-1))-(d5/d5(-1))+1
+(d(pop)/pop(-1))*rpiS(-1)+rpis(-1)
d5=(1-0.10)* (¢5+mmab5+imp5- (¢5-yx5hat))-dgah-0.1*¢5
@rdel5=0.10 , rdz5=0.1
impsum5=mmabS+imp5-{(¢5-¢x5hat)



@sweet potato(no.) @ dd6=d6+dgab

q(:‘o=q(i(-1)*(eq(ipﬁ*(d(n)i(i)/n)i(i(—1))+eqﬁwg*(d(rwage)/rwage(—l))
+eubpl0*(d(rpil0)/mpil0(-1))+1+gamax)

pi6=-(1/ed6p6)* (ed6inc (d(incom)/incom(~ 1))-(dd6/dd6(-1))+1
+(d(pop)/pop(-1)))*rpi6(-1)+rpi6(-1)

dd6=(1-0.10)*(¢6(-1)+ mmat+impb-(y6(-1)-yxGhat(- 1)))-0.035+¢6(-1)

@rdel6=0.10 , rdz6=0.035
impsum6=mmab+imp6- (¢6(-1)-qx6that(-1))

@pepper(no.7)
a7=q7(-1)*(eq7p7*(d(rpi7)/rpi7(-1))+eqTwg* (d(rwage)/rwage(-1))
+eq7pd=*(d(rpid)/rpi4(-1))+1+gamax)
1pi7=-(1/ed7p7)*(ed7inc*(d(incom)/incom(-1))-(d7/d7(-1))+1
+(d(pop)/pop(- )+rpi7(- 1)+mpi7(-1)
d7=(1-0.10)*(¢;7+mma7+imp7-0.0* (q7-qx7hat))-expo7
@rdel7=0.10
impsum7=mma7+imp7

@galic (no.8)
q8=q8(-1)*(ec18p8*(d(1pi8)/n)i8(-1))+e(18wg*(d(rwage)/nvage(-l))+l
+eqBp2+(d(rpi2)/rpi2(-1))+gamax)
1pi8=-(1/ed8pR)* (edBinc*(d(incom)/incom(-1))- (d8/d8(-1))+1
+(d(pop)/pop(=1)))*rpi(-1)+rpi8(-1)
d8=(1-0.05)* (¢8+mmal+imp8-0.0* (8- yxBhat))-expol
@rdel8=0.05
impsum8=mmag+imp8

@onions (no0.9)

a9=q9(- 1)* (eq9p9+(d(rpi9®)/rpid(- 1)) +eqIwg* (d(rwage) /rwage(-1))
+eq9p2+(d(rpi2)/rpi2(~1))+1+gamax)

rpi9=-(1/ed9pM+ (edVinc*(d(incom)/incom(-1))-(d9/d9(-1))+1
+(d(pop)/pop(- 1))N)*rpid(-1)+rpid{(-1)

d9=(1-0.18)* (9+mmad+imp9-0.0* (Y- gx%hat))-expol

@rdel9=0.18
impsum9=mma9+imp9

@other vegi.(no.10)
(110=10(- D* (e 10p10+(d (rpil 0)/rpil0(- D)+eql0wg(d(rwage)/rwage(-1))
+eql0p3+(d(pid) /pi3(-1))+ 1+gamax)
11)i10=—(1.«"ed10p10)*(eleinc*(d(incr)m)/’mcom(—l))—(le/le(~ 1M+1
+(d(pop)-pop{- 1M =pil0(- D+rpil0(-1)
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d10=(1-0.25)*¢10
@rdell0=0.25
impsuml10=0.0

@orange(no.11)
qll=ql1(-D=*(eqllpll*(d(rpill)/rpil1(-1))+eqllpl0+(d(rpil 0)/rpil0(-1))+1+gamax)
rpill=-~(1/ed1l1pll)*(ed1linc*(d(incom)/incom(-1))-(d11/d11(-1))+1
+(d(pop)/pop(-1)*rpil1(-1)+rpil1(-1)
d11=(1-0.10)*(ql1+impll-(qll-gx11lhat)*mmall)-dgall-expoll
@rdelll=0.10
impsumll=mmall+impll-{(qll-gx11lhat)

@apple(no.12)
al2=¢q12(-D*(eql2p12+(d(rpil 2)/rpil2(- 1)) +eq12p10+(d(rpil0)/rpil0(-1))+1+gamax)
1pil2=-(1/ed12p12)*(ed12inc+(d(incom)/incom(-1))-(d12/d12(-1))+1
+(d(pop)/pop(-1)))*1pil2(- 1)+rpil2(-1)
d12=(1-0.10)*(q12+imp12-(q12-qx12hat))-dgal2-expol2
@rdell2=0.10
impsum12=impl2-(q12-qx12hat)

@oil crop (no.13)
al3=q13(-D*(eql3pl3*(d(rpil3)/rpil3(-1))+eql3p3+(d(rpid)/ipi3(-1))
+eql3wg*(d(rwage) rwage(-1))+1+gamax)
rpil3=-(1/ed13p13)*(ed13inc*(d(incom)/incom(-1))-(d13/d13(-1))+1
+{d(pop)/pop(- )N *rpil3(- V+rpil3(-1)
d13=(1-0.025)*(q13(-1)+imp13-(q13(-1)-gx13hat(-1))+mmal3)
@rdell3=0.025
impsuml13=mmal3+impl3-(q13(-1)-qx13hat(-1))

@milk (no.14)
ql4=q14(-1=*(eql4pl4+(d(rpil4)/rpil4(- D))+eqldwg*(d(rfdpi)/rfdpi(-1))+1+gamax])
rpild4=-(1/ed14pl4)*(edidinc*(d(incom)/incom(-1))-(d14/d14(-1))+1
+(d(pop)/pop(-11))*rpild(-1)+rpil4(-1)
d14=(1-0.007)*(q14+impl4+mmal4)-dgal4
@rdell4=0.007
impsuml4=mmal4+impl4

@egg (no.15)

ql5=q15(-D=*(eql5p15+(d(rpil5)/rpils(-1)) +eqldwg*(d(rfdpi) /rfdpi(-1))+1+gamax])

1pil5=-(1/ed15p15)*(ed15ine*(d(incom)/incom(-1))-(d15/d15(-1))+1
+(d(pop)/pop(-1))*rpil5(-1)+rpil5(-1)

d15=(1-0.02-0.06)*q15
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@rdellH=0.02 , rdz15=0.06
impsuml15=0.0

@beef(no.16)
ql6=g16(-1)*(eq16pl6*(d(rpil6)/rpil6(-1))+1+gamax])
rpil6=-(1/ed16p16)*(ed16pl7*(d(1pil7)/rpi17(-1))+ed16pl 8+ (d (1pil ) 1pil 8(-1))
+ed16inc*(d(incom)/incom(-1))-(d16/d16(-1))+1
+(d(pop)/pop(- 1)))*rpil6(- 1)+rpil6(-1)
d16=(ql6+implG-(ql6-gx16hat)+mmalG)
impsuml6=mmal6+impl6-(ql6-gxlthat)

@pig(no.17)
al7=q17(-1)*(eql7pl7+(d{rpil 7)/rpil7(-1))+1+gamax])
1il7=-(1/ed17p17)*(ed17pl6+(d(rpi16)/rpil6(-1)) +ed17pl 8= (d(rpilR) Apil 8(-1))
+ed17inc*(d(incom)/incom(-1))-(d17/d17(-1))+1
+(d(pop)/pop(- 1)) *rpil 7(- 1)+rpil7(-1)
d17=(q17+impl7-(ql7-qx17hat)+mmal7)
impsuml17=mmal7+impl7-(ql7-qx17hat)

@chicken(no.1R)

al8=q18(-1)*(eql18plB8+(d(rpil8)/rpil 8(~1))+1+gamaxl)

1pil8=-(1/ed18p18)*(ed18pl6+(d(rpil 6)/rpil6(-1))+ed18pl 7+ (d(rpil7)/rpil7(~1))
+ed18inc*(d(incom)/incom(-1))-(d18/d18(-1))+1
+{d(pop)/pop(-1)))*rpil8(-1)+rpil 8(-1)

d18=(ql18+impl8- (18- gx18hat)+mmall)

impsum18=mmal8+impl8-(¢18-¢qx18hat)

@revenue calculation by agricultural commodity
pigl=rpil/100+93300+*q1,/80/1000000.0

@90mpil: 93300, @ measure unit : 80kg
piq2=1pi2/100%752q2/1/1000000.0*(1+0.3698)

@90rpi2: 752, @ measure unit : kg, @conv2 : 0.3698
pig3=rpi3/100+68026+q3/72/1000000.0+(1+0.26255)

@90rpi3: 68026,@ measure unit : 72kg, @conv3 : 0.26255
pig4=rpi4/100+10589+q4/40/1000000.0+(1+0.26251)

@90rpi4: 10589,@ measure unit : 40kg, @conv4 : 0.26251
pig5=rpi5/100*354*¢5/1/1000000.0

@90rpih: 354, @ measure unit : lkg
pig6=rpi6/100*346*6/1/1000000.0

@Y90rpi6: 346,@ measure unit : lkg
piq7=rpi7/100*209147+¢7/60/1000000.0

@Y0rpi7: 209147,@ measure unit : 60kg
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pig8=rpi8/100+6018+¢R/3/1000000.0

@90rpi8: 6018,@ measure unit : 3kg
pig9=1pi9/100+235+¢9/1/1000000.0

@90rpid: 235,@ measure unit - lkg
pigl0=1pil0/100+254*¢10/1/1000000.0+(1+0.50313)

@90rpil0: 254,@ measure unit | l1kg,@conv10 : 0.50313
piql1=rpill/100+8730+q11/15/1000000.0

@90rpill: 8730,@ measure unit : 15kg
pigl2=rpi12/100+10486+q12/15/1000000.0+(1+1.3248)

@90rpil2: 10486,@ measure unit : 15kg,@conv12 : 1.3248
pigl3=1pil3/100+15924+q13/4/1000000.0+(1+0.0481)

@Y90rpil3: 15924,@ measure unit : 4kg,@convl3 : 0.0481
piql4=rpil4/100+364*14/1/1000000.0

@90rpil4: 364,@ measure unit : lkg
piql15=rpil5/100+1036+15/1/1000000.0

@90rpil5: 1036,@ measure unit : lkg
pigl6=rpil6/100%9078+¢16/1/1000000.0

@90rpil6: 9078@ measure unit : lkg
pigl7=rpil7/100+1933+17/1/1000000.0

@90rpil7: 1933,@ measure unit : lkg
pig18=rpil8/100+1989*q18/1/1000000.0

@90rpil8: 1989,@ measure unit : 10kg
piql9=(piq14+piql5+piql6+piql 7+pigl 8)+0.035024

@convlY : 0.035024

@cultivation revenue
tpiq=(piql+piq2+pig3+pigd+pigS+pig6+piq7+pigB+pig9+pigl 0+piqll+piql2+piygl3)

@livestock revenue
tpigl= (pig14+piql5+piql 6+piql 7+piql8+piqlY)

@ agri-sector commodity weighat caltulation
@ cultivation weighat
wl=piql/(tpiq)
w2=piq2/(tpiy)
w3=piq3/(tpiq)
w4=pig4/(tpiq)
w5=pig5/(tpiy)
w6=piq6/(tpiq)
w7=piq7/(tpiq)
w8=piq8/(tpiq)
w9=piq9/(tpig)
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w10=pigl0/(tpic)
wll=piqll/(tpiq)
w12=pigl2/(tpig)
w13=piql3/(tpiq)

@ livestock weight
w1l4=pigl4/(tpigl)
w15=piql5/(tpigl)
w16=piql6/(tpigl)
w17=piql7/(tpiyl)
w18=pic18/(tpicl)

@ agri-sector farmprice caculation

@crop price

tp=(W1*rpil+w2+rpi2+ w3*rpi3+ w4*rpid+ wS*rpiS+ wG*rpiG+ w7+rpi7+w8+rpi8+wh+rpid
+w10*rpil0+wll=*pill+w12+rpil2+wl3*rpil3)

@livestock price

tol=(w14*rpil4+w15+rpil 5+ wlG*rpil6+wl7*rpil7
+w18*rpilR)/(wl4+wl15+w16+w17+w18)

@agri. total price
ttp=(tp*tpig+tpl* (tpigl- pig1 9))/(tpig+ tpigl-piql9)

@ agri-sector aggregate supply function

@ crop aggregate supply function
gamax=(eagtp*(d(tp)/tp(-1)+eagwg*(d(rwage)/rwage(-1))+eagmp* (d (rmp)/rmp(-1))

+eaginp*(d(rinp)/rinp(-1))+eagsnp*+(d(rsnp)/rsnp(-~1))
+eagemp*(d(emp)/emp(-1))+eagland*(d(land)Nand(-1))
+eagrnde*(d(rnde)/rnde(-1))+eagggu+(d(ggu)/ggu(-1))
+eagdrain*(d(drain)/drain(-1))+eagflat*(d(flat)/flat(-1))
+eaggsh*d(gsh)/gsh(-1)))

@ livestock aggregate supply function

gamaxl=(eagtp*(d(tpl)/tpl(-1))+eaginp*(d(rfdpi)/rfdpi(-1))+eagsnp*(d(rsnp)/rsnp(-1))
+eagrnde*(d(rnde)/rnde(-1)) +eagggu*(d(ggu)/ggu(-1))
+eaggsh+(d(gsbl)/gshl(-1)))

@ agri-sector add-value calculation
@ eva @ -0.1423. @ eval : -1.2269
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vahat=(1+eva*( d(cropdef)/cropdef (-1) - (d(tp)/tp(-1))))*vahat(-1)
@ rcropdef = d{cropdef)/cropdef (-1)
valhat=(1+eval*(d(rfdpd) /rfdpi{-1)- (d(tpD/tpl(-1))))*valhat(-1)
@ rlivstdef=d(rfdpi)/rfdpi(-1)

add=vahat*tpiq/(tp/100)
addl=valhat+tpiql/(tpl/100)
adds=(add+add})*0.01835

@ convadds @ 0.01835
tadd=(add+addl+adds)

@ agri-sector agriculural income calutation
@convine : 0.9287
tincom=0.9287*(vahat*tpig+valhat*tpigl)*(1+0.01835)
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2. BEx==Z=H: AGIPRO2. HWP

@ starting & ending year 1995 - 2004
@ tepi (import price) caculation

smpl 1995 2004
genr tepi2=(100%1.47/1.270)*(1+3.32-0.0332*(time- 1995))/752+100
@wp2=100, cif/fob=1.47, agi. imp. pri. index=1.27, te2=3.32, rte2=-0.00332

genr tepi3=(200+1.0/1.068)*(1+5.41-0.0600*(time-1995))/1261*100
@wp3=200, cif/fob=1.0, agi. imp. pri. index=1.068, te3=5.41, rte3=-0.0600

genr tepi4=(103*1.0/1.068)#*(1+3.65-0.0411*(time-1995))/674*100
@wp4=103, cif/fob=1.0, agi. imp. pri. index=1.068, te4=3.65, rted=-0.0411

genr tepi5=(112.3+1.0/1.000)*(1+3.38-0.0378+(time-1995))/497=100
@wpb=112.3, cif/fob=1.0, agi. imp. pri. index=1.00, te5=3.38, rte5--0.0378

genr tepib=(87+1.0/1.000)*(1+4.20-0.0389* (time~ 1995))/462*100
@wp6=87, cif/fob=1.0, agi. imp. pri. index=1.0, te6=4.20, rtet6=-0.0389

genr tepi7=(1100+1.2/1.023)*(1+3.0-0.0333*(time-1995))/3486+100
@wp7=1100, cif/fob=1.2, agi. imp. pri. index=1.023, te7=3.0, rte7=-0.0333

genr tepiB=(542+1.2/1.023)*(1+4.0~0.0444* (time-1995))/2006 *100
@wpB=542, cif/fob=1.2, agi. imp. pri. index=1.023, te8=4.0, rteB=-0.0444

genr tepi9=(251+1.2/1.023)*(1+1.5-0.0166* (time-1995))/235+100
@wph=251, cif/ffob=1.2, agi. imp. pri. index=1.023, te9=15, rte8=-0.0166

smpl 1997 2004
genr tepill=(416.4%1.0/1.003)*(1+0.99-0.0700+(time- 1997)) /582100
@wpll=4164, cif/fob=1.0, agi. imp. pn. index=1.003. tell=0.99, rte8=-0.0700
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smpl 1995 2004
genr tepil 2=(454.4+1.0/1.003%1.15+(1+0.5))/699 *100

@wpl2=454 4,cif/fob=1.0, qualty defference ratio=l.1'5, agi. imp. pri.
index=1.003, rtel2=0.5

genr tepil3=(576%1.0/1.068)*(1+7.00-0.0778+(time~1995))/3981*100

@wpl3=576, cif/fob=1.0, agi. imp. pri. index=1.068, tel13=7.0, rtel3=-0.0778
smpl 1997 2000
genr tepil6=99.64+(1-0.0119*(time-1997))

@tepil6(97)=99.64, rtel6 =-0.0119

smpl 2001 2004
genr tepil6=74.87+(1-0.0028+* (time~-2001))
@tepil 6(2001)=74.87, rtel6 =-0.0028

smpl 1997 2004

genr tepil7=91.00+(1-0.0092+(time-1997))
@tepil 7(97)=91.00, rtel7=-0.0092

genr tepilB®=80.00+(1-0.0119*(time-1997))
@tepil8(97)=80.0, rtel8 =-0.0119

@import quantity caculation by agricultural commodity

@borissal(noe.2)

smpl 1993 1994

genr gxZhat=q2Zhat

genr dxZhat=d2hat

genr tepi2=rpiZhat

smpl 1995 2004 if rpi2hat > tepi2

genr gx2hat=gx2hat(-1)*(eq2p2+(d(tepi2)/tepi2(-1))+eq2wg*(d(xwage)/rwage(-1))
+eq2p8+(d(rpi8hat)/rpi8hat(-1))+1+gamax)

genr dx2hat=dx2hat(-1)*(1+ed2p2+(d(tepi2)/tepi2(-1))+ed2inc*(d(incom)/incom(-1))
+{d(pop)/pop(-1)))

genr imp2=(-gx2hat-mma2+(dx2hat+dga2+0.04* (qxZhat+mma2)+0.008*(x2hat))/0.96

@1-rdel2=0.96 , rdz2=0.008

@pulse (no.3) ’

smpl 1993 1994

genr gx3hat=q3hat

genr dx3hat=dd3hat

genr tepi3=rpi3hat
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smpl 1995 2004 if rpi3hat > tepi3
genr gx3hat=gx3hat(-1)*(eq3p3+(d(tepi3)/tepid(-1))+eq3wg*(d(rwage)/rwage(-1))
+eq3p7*(d(rpi7hat)/rpi7hat(-1))+1+gamax)
genr dx3hat=dx3hat(-1)*(1+ed3p3+(d(tepi3)/tepi3(-1))+ed3inc*(d(incom)/incom(-1))
+(d(pop)/pop(-1)))
genr imp3=(-gx3hat(-1)-mma3+(dx3hat+0.02*(yx3hat(-1)+mma3)
+0.03*gx3hat(-1)))/0.98
@1-rdel3=0.98 , rdz3=0.03

@corn (no.4)

smpl 1993 1994
genr gx4hat=q4hat
genr dx4hat=dd4hat
genr tepid=rpidhat

smpl 1995 2004 if rpidhat > tepid

genr gx4hat=gx4hat(-1)=(eq4p4*(d(tepid)/tepid(-1))+eqdwgx(d(rwage)/rwage(-1))
+eq4pl0+(d(rpilOhat) /rpilOhat(-1))+1+gamax)

genr dx4hat=dx4hat(-1)*(1+ed4p4+(d(tepid)/tepi4(-1))+eddinc*(d(incom)/incom(-1))
+(d(pop)/pop(-1)))

genr imp4=(-gx4hat(-1)-mma4+(dx4hat+0.007*(gx4hat(-1)+mma4)
+0.01+gx4hat(-1)))/0.993

@1-rdel4=0.993, rdz4=0.01

@potatoe(no.5)

smpl 1993 1994

genr gxbhat=qgbhat

genr dxbhat=d5hat

genr tepib=rpibhat

smpl 1995 2004 if rpiShat > tepiS

genr gxbhat=qx5hat(-1)*(eqbp5*(d(tepi5)/tepiS(-1))+eqbwg*(d(rwage)/rwage(-1))
+1+gamax)

genr dxbhat=dx5Shat(-1)*(1+ed5p5+(d(tepib)/tepiS(-1))+edSinc*(d(incom)/incom (-1))
+(d(pop)/pop(-1)))

genr impb=(-¢x5bhat-mmab+(dx5hat+dga5+0.1#*(gx5hat+mmab)+0.1*qxShat))/0.9
@1-rdel5=0.90 , rdz5=0.1

@sweet potato(no.6)
smpl 1993 1994
genr gxbhat=gGhat
genr dx6hat=dd6hat
genr tepib=rpibhat
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smpl 1995 2004 if rpi6hat > tepi6

genr gxGhat=gx6hat{-1)*(eqbp6*(d(tepi6)/tepi6(-1))+eqbwg*(d(rwage)/rwage(-1))
+eq6pl0*(d(rpilOhat)/rpilOhat(-1))+1+gamax)

genr dxGhat=dx6hat(-1)*(1+edGp6+(d(tepi6)/tepi6(-1))+edbinc*(d{incom)/incom (1))
+(d(pop)/pop(-1))

genr imp6=(-gx6hat(-1)-mma6+(dx6hat+0.1*(qx6hat(-1)+mma6)
+0.035+gx6hat(-1)))/0.9

@1-rdel6=0.90 , rdz6=0.035

@pepper (no.7)

smpl 1993 1994

genr gx7hat=q7hat

genr dx7hat=d7hat

genr tepi7=rpi7hat

smpl 1995 2004 if rpi7hat > tepi7

genr gx7hat=qx7hat(-1)*(eq7p7+(d(tepi7)/tepiT(-1))+eq7wg*(d(rwage)/rwage(-1))
-0.36*(d(tepi4)/tepi4(-1))+1+gamax)

genr dx7hat=dx7hat(-1)*(1+ed7p7+*(d(tepi7)/tepi7(-1))+ed7inc*(d{incom)/incom(-1))
+(d(pop)/pop(-1)))

genr imp7=(-gx7hat-mma7+(dx7hat+expo7+0.1*(gx7hat+mma7)))/0.9
@1-rdel7=0.90

smpl 1995 2004 if rpil7hat <= tepi7

genr imp7=0.0

@galic (no.8)

smpl 1993 1994

genr x8hat=q8hat

genr dx8hat=d8hat

genr tepiB=rpi8hat

smpl 1995 2004 if rpiBhat > tepiB

genr gx8hat=gx8hat(-1)*(eqBp8*(d(tepiB)/tepiB(-1))+eyB8wg*(d(rwage)/rwage(-1))
+eq8p2+(d(tepi2) Aepi2(-1))+1+gamax)

genr dx8hat=dx8hat(-1)*(1+ed8p8=(d(tepi8)/tepi8(-1))+edBinc*(d(incom)/incom(-1))
+(d(pop)/pop(-1)))

genr imp8=(-gx8hat-mma8+(dx8hat+expo8+0.05+ (qx8hat+mmag)))/0.95

@1-rdel8=0.95

smpl 1995 2004 if rpiBhat <= tepi8
genr imp8=0.0
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@onions (n0.9)
smpl 1993 1994
genr gxY%hat=¢Y%hat
genr dxBhat=dY9hat
genr tepi9=rpiYhat

smpl 1995 2004 if rpiShat > tepi9

genr gxShat=ygxYhat(-1)=(eq9p9+(d(tepid)/tepid(-1))+eqIwg*(d(rwage)/rwage(-1))
+eq9Ip2+(d(tepi2) tepi2(-1))+1+gamax)

genr dxYhat=dx9hat(-1)*(1+ed9p9=*(d(tepi9)/tepi9(-1))+edinc+(d(incom)/incom (- 1))
+(d(pop)/pop{-1)))

genr impY=(-qx9hat-mma9+(dxYhat+expod+0.18+ (gx9hat+mman)))/0.82

@1-rdel9=0.82
smpl 1995 2004 if rpi%hat <= tepi9
genr impY=0.0

@ orange(no.11)

smpl 1993 2003

genr ¢xllhat=¢gllhat

genr dxllhat=dllhat

genr tepill=mpillhat

smpl 2004 2004 if rpillhat > tepill

genr gxllhat=gx1lhat(-1)*(eql1pll=(d(tepill)/tepiil(-1))
+eqllplO*(d(rpilOhat)/rpilOhat(-1))+1+gamax)

genr dxllhat=dxllhat(-1)*(1+edl1pll*(d{tepill)/tepill(-1))
+edllinc*(d(incom)/incom(-1))+(d(pop)/pop(-1)))

genr impll=(-gx1lhat-mmall+(dx1lhat+dgall+expoll+0.1*(gx1lhat+mmall)))/0.9

@1-rdell1=0.90

@apple(no.12)

smpl 1993 1998

genr gxl12hat=ql2hat

genr dx12hat=d12hat

genr tepil2=1pil2hat

smpl 1999 2004 if rpil2hat > tepil2

genr gx1Zhat=qx12hat(-1)*(eql2pl2*(d(tepil2)/tepil2(-1))
+eq12pl0*(d(rpilOhat)/rpilOhat(-1))+1+gamax)

genr dx1Zhat=dx12hat(-1)*(1+ed12p12*(d(tepil 2)/tepil2(-1))
+ed1Zinc* (d(incom)/incom(-1))+(d(pop)/pop(-1)))

genr impl2=(-gx12hat+(dx12hat+dgal2+expol 2+0.1+(yx12hat)))- 0.9

@1-rdel12=0.90
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@ oil crop (no.13)
smpl 1993 1994
genr (xl3hat=¢l3hat
genr dxl3hat=d13hat
genr tepil3=rpil3hat
smpl 1995 2004 if rpil3hat > tepil3
genr gxl3hat=qx13hat(-1)*(eql3pl3*(d(tepil3)/tepild(-1))
+e(13p3*(d{rpi3hat)/rpidhat(-1))+eql3wg*(d(rwage)/rwage(-1))+1+gamax)
genr dxl13hat=dx13hat(-1)*(1+ed13pl3+(d(tepil3)/tepil3(-1))
+ed13inc#*(d(incom)/incom(-1))+(d(pop)/pop(-1)))
genr impl3=(-gx13hat(-1)-mmal3+(dx13hat+0.025*(gx13hat(-1)+mmal3)))/0.975
@1-rdel13=0.975

@ te beef(no. 16) & pig(no.17) & chicken (no.18)

smpl 1993 1996

genr qxl7hat=ql7hat
genr dx17hat=d17hat
genr gx18hat=¢l18hat
genr dx18hat=d18hat
genr tepilb=rpil6hat
genr tepil7=rpil7hat
genr tepil8=rpil8hat
genr (x16Ghat=¢l6hat
genr dxlGhat=dlGhat

smpl 1997 2004

genr gxl17hat=qx17hat(-1)*(eql7p17*(d(tepil7)/tepil 7(-1))+1+gamaxl)

genr dx17hat=dx17hat(-1)*(1+ed17p16+*(d(tepil6)/tepil6(-1))
+ed17pl7*(d(tepil7)/tepil 7(-1))+ed17pl 8+(d(tepilR)/tepil8(- 1))
+ed17inc*(d(incom)/incom(-1))+(d{pop)/pop(-1)))

genr impl7=-¢x17hat-mmal7+dx17hat

genr (xl8hat=qx18hat(-1)*(eql8p18+(d(tepil8)/tepil8(-1))+1+gamaxl)

genr dx18hat=dx18hat(-1)*(1+ed18pl6+{d(tepil6)/tepil6(-1))
+ed18pl7*(d{tepil7)/tepil 7(-1))+ed18pl8*(d(tepilB)/tepil8(-1))
+ed18inc*(d(incom)/incom(-1))+(d(pop)/pop(-1)))

genr impl8=-gx18hat~-mmal8+dxi8hat

genr (x16hat=gx16hat(-1)*(eql6pl6+(d(tepil6)/tepil6(~1))+1+gamaxl)
genr dxl16hat=dx16hat(-1)*(1+ed16pl6+{d(tepil6)/tepil6(-1))
+ed16p17+(d(tepil7)/tepil7(-1))+ed16pl8*(d(tepilB) /tepil&8(-1))



+ed16inc*(d(incom)/incom(-1))+(d(pop)/pop(-1)))
genr impl6=~-qx16hat-mmal6+dx16hat

smpl 1993 2004
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1993 1994 1995 1996 1997 1998 1999 2000
EQIP1 0.1100 01100 0.1100 01100 0.1100 01100 01100 0.1100
EQIWG -0.1700 -0.1700 -0.1700 -0.1700 -0.1700 -0.1700 -0.1700 -0.1700
EDIINC -0.2000 -0.2000 -0.2000 -0.2000 -0.2000 -0.2000 -0.4200 -0.4200
ED1P1 -0.4200 -04200 -0.4200 -0.4200 -0.4200 -0.4200 -0.2000 -0.2000
EQ2P2 05300 05300 05300 05300 05300 05300 05300 05300
EQ2P8 -0.1900 -0.1900 -0.1900 -0.1900 -0.1900 -0.1900 -0.1300 -0.1900
EQ2WG -0.6800 -06800 -0.6800 -0.6800 -0.6800 -0.6800 -0.6800 -0.6800,
ED2INC 04800 04800 04300 04800 04800 04800 04800 0.4800
ED2P2 -0.5600 -0.5600 -05600 -05600 -05600 -05600 -05600 -0.5600
EQ3F3 0.4200 04200 04200 04200 04200 04200 04200 0.4200
EQ3P7 -0.0600 -0.0600 -0.0600 -0.0600 -0.0600 -0.0600 -0.0600 -0.0600
EQ3WG -05200 -05200 -05200 -05200 -05200 -05200 -0.5200 -05200
ED3INC -0.2600 -0.2600 -02600 -0.2600 -0.2600 -02600 -0.2600 -0.2600
ED3P3 -0.4100 -04100 -0.4100 -04100 -0.4100 -0.4100 -0.4100 -0.4100
EQ4P10 -0.1600 -0.1600 -0.1600 -0.1600 -0.1600 -0.1600 -0.1600 -0.1600
EQ4P4 04200 04200 04200 04200 04200 04200 04200 04200
EQ4WG -05200 -05200 -05200 -05200 -05200 -05200 -0.5200 -0.5200
ED4INC 0.0800 00800 0.0800 00800 00800 0.0800 00300 0.0800
ED4P4 -0.5600 -0.9600 -0.9600 -0.9600 -0.9600 -0.9600 -0.9500 -0.9600
EQ5SPS 04500 04500 04500 04500 04500 04500 04500 0.4500
EQ5WG . -0.1900 -0.1900 -0.1900 -0.1900 -0.1900 -0.1300 -0.1900 -0.1900
EDSINC 0.0800 0.0800 0.0800 0.0800 00800 00800 00300 0.0800
EDSPS -0.7100 -0.7100 -0.7100 -0.7100 -0.7100 -0.7100 -0.7100 -0.7100
EQ6P10  -0.1600 -0.1600 -0.1600 -0.1600 -0.1600 -0.1600 -0.1600 -0.1600
EQE}:G 0.4200 04200 04200 04200 04200 04200 04200 04200
EQ6WG -03100 -03100 -03100 -0.3100 -0.3100 -0.3100 -0.3100 -0.3100
ED6INC 0.0800 0.0800 00800 0.0800 00800 00800 0.0800 0.0800
EDGP6 -0.7100 -0.7100 -0.7100 -0.7100 -0.7100 -0.7100 -0.7100 -0.7100

2001

0.1100
-0.1700
-0.4200
-0.2000

0.5300
-0.1900
-0.6800

0.4800
-0.5600

0.4200
-0.0600
-0.5200
-0.2600
-0.4100

-0.1600
0.4200
-0.5200
0.0800
-0.9600

0.4500
-0.1900
0.0800
-0.7100

-0.1600
0.4200
-0.3100
0.0800
-0.7100

2002

0.1100
-0.1700
-0.4200
-0.2000

0.5300
~0.1500
-0.6800

0.4300
-0.5600

0.4200
-0.0600
-0.5200
-0.2600
-0.4100

-0.1600
0.4200
-0.5200
0.0800
-0.9600

0.4500
-0.1900
0.0800
-0.7100

-0.1600
0.4200

2003

0.1100
-0.1700
-0.4200
~0.2000

05300
-0.1900
-0.6800

0.4800
-0.5600

0.4200
-0.0600
-0.5200
~0.2600
-0.4100

-0.1600
0.4200
-0.5200
0.0800
0.9600

0.4500
-0.1900
0.0800
~0.7100

-0.1600
0.4200

-0.3100
0.0800
-0.7100

-0.3100
0.0800
-0.7100

41

2004

0.1100
-0.1700
-0.4200
-0.2000

0.5300
-0.1300
-0.6800

0.4800
-0.5600

04200
-0.0600
-0.5200
-0.2600
-0.4100

-0.1600
0.4200
-0.5200
0.0800
-0.9600

0.4500
-0.1500
0.0800
-0.7100

-0.1600
0.4200
-0.3100
0.0800
-0.7100
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EQ7P4
EQ7F7
EQTWG
ED7INC
ED7P7

EQ8F2
EQ8P8
EQ8WG
EDSINC
ED8P8

EQ9P2

EQIWG
EDIINC
ED9P9

EQ10P10
EQ10P3

EQIOWG
EDI0INC
EDI10P10

EQ11P10
EQitPl1
EDIIINC
ED11P11

EQI2P10
EQ12P12
EDI2INC
ED12P12

EQ13P13
EQ13P3

EQI3WG
EDI3INC
ED13PI3

EQ14Pi4
EQI4WG
EDI4INC
ED14P14

1993

-0.3600
0.2700
0.1470
0.1200

-0.2200

-0.0200
0.3500
0.4130
03100

-0.3000

-0.0200
0.3500
04130
05100

-0.6800

0.2800
-0.4000
0.4200
0.4400
-0.8200

-0.2640
0.1650
04415

-0.2938

-0.3060
0.3040
0.2200

-0.2600

0.1500
-0.1300
-0.0200

0.6700
-0.7800

0.2300
-0.0300
04350
-0.6200

1994

-0.3600
0.2700
0.1470
0.1200

-0.2200

-0.0200
0.3500
0.4130
03100

-0.3000

-0.0200
0.3500
04130
05100

-0.6800

0.2800
-0.4000
0.4200
0.4400
-0.8200

~0.2640
0.1650
0.4415
-0.2938

-0.3060
0.3040
0.2200

-0.2600

0.1500
-0.1300
-0.0200

0.6700
-0.7800

0.2300
-0.0300
0.4350
-0.6200

1995

-0.3600
0.2700
0.1470
0.1200

-0.2200

-0.0200
0.3500
0.4130
0.3100

-0.3000

-0.0200
0.3500
04130
0.5100

-0.6800

-0.2640
0.1650
0.4415

-0.2938

~0.3060
0.3040
0.2200
-0.2600

0.1500
-0.1300
-0.0200

0.6700
-0.7800

0.2300
-0.0300
0.4350
-0.6200

996

-0.3600

0.1470
0.1200
-0.2200

-0.0200
0.3500
04130
03100

-0.3000

~0.0200
03500
04130
0.5100
-0.6800

0.2800
-0.4000
0.4200
0.4400
-0.8200

-0.2640
0.1650
0.4415

-0.2938

-0.3060
0.3040
0.2200

-02600

0.1500
-0.1300
~0.0200

06700
-0.7800

0.2300
-0.0300
04350
-0.6200

1997

-0.36500
0.2700
0.1470
0.1200

-0.2200

~0.0200
0.3500
04130
03100
-0.3000

-0.0200
0.3500
04130
0.5100

-0.6800

0.2800
-0.4000
0.4200
0.4400
-0.8200

-0.2640
0.1650
0.4415

-0.2938

-0.3060
0.3040
0.2200

-0.2600

0.1500
-0.1300
~0.0200

0.6700
-0.7800

0.2300
~0.0300
04350
~0.6200

1998

~0.3600
0.2700
0.1470
0.1200
-0.2200

-0.0200
0.3500
0.4130
0.3100

~0.3000

-0.6200
0.3500
0.4130
0.5100

-0.6800

0.2800
-0.4000
0.4200
0.4400
-0.8200

-0.2640
0.1650
0.4415

-0.2938

-0.3060
0.3040
0.2200

-0.2600

0.1500
-0.1300
-0.0200

0.6700
-0.7800

0.2300
-0.0300
0.4350
-0.6200

1999 2000 2001

-0.3500
0.2700
0.1470
0.1200

-0.2200

-0.0200
0.3500
04130
0.3100

-0.3000

-0.0200
0.3500
04130
05100

-0.6800

0.2800
-0.4000
0.4200
0.4400
-0.8200

-0.2640
0.1650
0.4415

-0.2938

-0.3060
0.3040
0.2200

-0.2600

0.1500
-0.1300
-0.0200

06700
-0.7800

02300
-0.0300
04350
-06200

-0.3600
0.2700
0.1470
0.1200

-0.2200

-0.0200
0.3500
0A130
0.3100

-0.3000

-0.0200
0.3500
04130
05100

-0.6800

0.2800
~0.400Q
0.4200
0.4400
-0.8200

-0.2640
0.1650
0.4415

-0.2038

-0.3060
0.3040
0.2200

~0.2600

0.1500
-0.1300
-0.0200

0.6700
-0.7800

0.2300
-0.0300

04350

-0.6200

-0.3600
02700
0.1470
0.1200

-0.2200

-0.0200
0.3500
0.4130
0.3100

-0.3000

-0.0200
0.3500
04130
0.5100

-0.6800

0.2800
-0.4000
0.4200

-0.8200

-0.2640
0.1650
0.4415

-0.2938

-0.3060
0.3040
0.2200

~0.2600

0.1500
-0.1300
-0.0200

0.6700
-0.7800

0.2300
-0.0300

704350

-0.6200

2002

~0.3600
0.2700
0.1470
0.1200
-0.2200

-0.0200
0.3500
0.4130
03100

~0.3000

-0.0200
0.3500
04130
05100

-0.6800

0.2800
-0.4000
0.4200
0.4400
-0.8200

-0.2640
0.1650
0.4415

-0.2938

-0.3060
0.3040
0.2200

-0.2600

0.1500
-0.1300
-0.0200

0.6700
-0.7800

0.2300
-0.0300
04350
-0.6200

2003

-0.3600
0.2700
0.1470
0.1200

-0.2200

-0.0200
0.3500
04130
0.3100

-0.3000

-0.0200
0.3500
04130
0.5100

-0.6800

0.2800
-0.4000
0.4200
0.4400
-0.8200

~0.2640
0.1650
0.4415
-0.2938

-0.3060
0.3040
0.2200

-0.2600

0.1500
~0.1300
-0.0200

0.6700
~0.7800

0.2300
~0.0300
0.4350
-0.6200

2004

-0.3600
0.2700
0.1470
0.1200

-0.2200

*0.0200
0.3500
04130
0.3100

-0.3000

-0.0200
0.3500
04130
05100

-0.6800

0.2800
-0.4000
0.4200
0.4400
-0.8200

-0.2640
0.1650
0.4415

-0.2938

-0.3060
0.3040
0.2200

-0.2600

0.1500
-0.1300
-0.0200

0.6700
-0.7800

0.2300
~0.0300
04350
-0.6200



EQI5P15
EQISWG
EDISINC
EDI5PI5

EQI16P16
EDIGINC
EDI6P16
ED16P17
ED16P18

EQI7P17
EDITINC
ED17P16
ED17P17
ED17P18

EQ18P18
EDI8SINC
ED18P16
ED18P17
EDi8P18

1.1.2.

RWAGE
RFDPL

INCOM
RGNP

1933

0.2400
-0.2400
0.1740
~0.6700

1.2700
0.6840
-05100
-0.1730
-0.0520

0.9000
06916
-0.09%0
~1.0400
-0.0710

0.7100
0.3240
-0.0430
-0.2310
-0.2700

=9, 487t

1993

13268
8308
44056
4.8947
215641

1994

0.2400
-0.2400
0.1740
-0.6700

1.2700
0.6840
-0.9100
-0.1730
-0.0520

0.9000
0.6916
-0.0930
-1.0400
~0.0710

0.7100
0.3240
-0.0430
-0.2310
-0.2700

1934

141.13
8161
44453
5.1954
230852

1995

0.2400
~0.2400
0.1740
-0.6700

1.2700
0.6840
-0.9100
-0.1730
-0.0520

0.8000
06916
-0.0990
-1.0400
-0.0710

0.7100
0.3240
-0.0430
-0.2310
-0.2700

1995

150.12
8015
44850
55202
247581

996

0.2400
-0.2400
0.1740
-06700

1.2700
0.6340
~09100
~-0.1730
-0.0520

0.5000
0.6916
-0.0990
-1.0400
-0.0710

0.7100
03240
-0.0430
-0.2310
-0.2700

159.68
7873
45247
5.8602
265159

1997

0.2400
-0.2400
0.1740
-0.6700

1.2700
0.6840
-0.9100
-0.1730
-0.0520

0.9000
06916
-0.0950
-1.0400
-0.0710

0.7100
0.3240
-0.0430
-0.2310
-0.2700

1957

163.86
7733
45642
6.2162
283720

1998 1999 2000 2001
02400 02400 02400 0.2400
02400 -02400 -0.2400 -0.2400
01740 01740 01740 0.1740
-06700 -06700 -0.6700 -0.6700
12700 12700 12700 12700
06840 06840 06840 06840
-0.9100 -05100 -0.9100 -0.9100
-0.1730 -01730 -01730 -0.1730
-00520 -00520 -0.0520 -0.0520
05000 09000 05000 09000
06016 06916 06916 06916
-0.0990 -0.0990 -0.0990 -0.0990
-1.0400 -10400 -10400 -10400
-00TI0 -00710 -0.0710 -0.0710
07100 07100 07100 07100
03240 03240 03240 03240
-00430 -0.0430 -0.0430 -0.0430
-02310 -02310 -0.2310 -0.2310
-02700 -02700 -0.2700 -0.2700
-3

AR, FFAL

1998 1999 2000 2001
18068 19218 20443 21745
7595 7460 T2T 719
46032 46415 46789  4TISO
65950 69330 72902  7.6685
303580 321785 341103 361569

43

2002 2003 2004

0.2400
-0.2400
0.1740
-0.6700

1.2700
06840
-09100
-0.1730
~0.0520

0.9000
0.6916
-0.0990
-1.0400
-0.0710

0.7100
0.3240
-0.0430
-0.2310
-0.2700

2002

231.30

70.68
47459
8.0757

0.2400
-0.2400
0.1740
~0.6700

1.2700
08840
-0.9100
-0.1730
-0.06520

0.9000
0.6516
-0.0990
-1.0400
-0.0710

0.7100
0.3240
-0.0430
-0.2310
-0.2700

246.03
6343
47770
85045
406259

0.2400
-0.2400
0.1740
-0.6700

1.2700
06840
-0.9100
-0.1730
~0.0520

0.9000
0.6916
-0.0950
~1.0400
-0.0710

0.7100
0.3240
-0.0430
-0.2310
-0.2700

261.71
6819
48083
89561



EXPO8

EXPOI11
EXPO12

MMAL1

MMA4
MMAS5
MMAG6
MMA7

MMAI10
MMAIL
MMALZ
MMAI13
MMA14
MMAI6
MMA17
MMAIB

ENTER1

1170
13190
70710
56.0
2210
1032
86.6
609.5
609.5

40
40

46

00
00
12340
64180
00
0.0
0.0
00

0.0

00

00

00

00

00
1104
00

00

1710

300.0
107.0
14730
6621.0
51.0
2310
108.2
69.4
603.0
603.0

00
0.0
36
85

0.0
0.0
1218.0
6834.0
0.0
00
00
0.0
0.0
0.0
00
0.0
00

0.0
116.0
0.0

00

169.0

300.0
1150
1627.0
6734.0
540
2340
100.0
61.6
7146
7146

00
00
49
85

51.0
142
10320
6012.0
124
1.1
43
87
124
00
150
183
183
2570
130
175
77

1550

HAEARA
196 1997
2000 1900
1060 990
16970 17680
68510  6970.0
50 590
430 220
1000 1000
502 55
7659 801
7659 801
00 00
00 00
61 61
86 86
640 770
152 162
10320 10320
0120 60120
133 142
e 127
46 49
93 100
133 142
00 00
00 250
183 183
183 183
3080 3610
1470 1670
24 00
104 00
1240 1130

1700

810

7093.0
620
2210
70.0
56.8
8774
8774

0.0
00
6.1
86

90.0
172
1032.0
6012.0
152
136
53
106
151
0.0
281
183
183
4500
1870
0.0
00

Eolu
1939 2000
1500 1300
46.0 450
19210 2001.0
72190 73480
65.0 68.0
2100 198.0
500 «300
572 575
9330 10020
9380 10020
0.0 0.0
00 0.0
62 62
86 86
103.0 103.0
183 194
10320 10320
60120 6012.0
16.1 170
144 152
56 59
113 113
16.0 170
0.0 0.0
316 356
183 183
183 183
5330 6280
206.0 250
00 0.0
00 0.0
67.0 67.0

1100
470
2085.0
7480.0
no
1870
30.0
5719
1063.5
1069.5

00
00
6.2
86

1280
204
1032.0
6012.0
179
16.0
6.2
125
179
0.0
400
18.3
183
7170
00
0.0
00

2002 2003 2004

800
480
2850
76150
740
1770
00
582
11374
11374

00
00
62
87

214
1032.0
6012.0

188

168

65
132
188

00
451
183
183

8240

00

00

00

100

470
2085.0
77530

75.0

167.0
0.0

586
12057
12057

00
0.0
6.1
8.7

180.0
225
1032.0
6012.0
19.8
17.7
6.9
138
197
00
507
183
183
938.0
0.0
0.0
00

0.0

430
2085.0
78970

770

157.0
0.0

59.0
12747
12747

0.0
0.0
6.0
87

205.0
235
1032.0
6012.0
20.7
185
72
145
206
0.0
570
183
183
1062.0
0.0
00

0.0

0.0



1.1.4. 4714

TEPIL
TEF12
TEPI3
TEPNIS
TEPLI6
TEPDI7
TEP1I8

1.1.5.

0.0400
RDELS
0.1800

RDZ1
0.0075

CONV2

0.3638

S0RPI1

90RPI3

9ORPI17
1933

1933

106.54
106.89
118.41
81.59
10855
129.11
12876
73.84
7253
9338
1158.15

10247
114.76
86.95
83.62

RDEL10
0.2500

0.0080

CONV3
0.2626

90RPI2
752
S0RPI10
254
90RPI18
1089

1994 1935 996 1997 1998 1993 2000 2001
10121 10180 8565 99.17 96.55 9557 9566 9423
107.17 66.49 6598 65.47 64.96 64.45 63.94 6343
11850 9519 94.30 9341 9252 91.63 90.74 89.85
7136 6654 65.95 65.36 64.77 64.18 63.60 63.01
10945 9897 98.11 97.26 9641 9555 94.70 9384
98.77 9792 97.19 96.46 85.72 84.99 94.26 9353
12489 14807 14683 14560 14437 14314 14180 14067
7462 15847 15706 15565 15425 15284 15143 15003
7513 31322 31114 30906 306598 30490 30282 300.74
10939 11193 11902 12121 10982 10563 16115 10513
11423 11179 11179 11179 11179 1IL7% 11179 111.79
111.15 10838 10733 10627 10522 10416 10311 10206
10206 10779 111.78 11234 11414 11173 11179 11179
11486 11588 11177 99.64 9845 97.27 96.08 7487
86.73 86.81 8797  91.00 90.16 83.33 88.49 87.65
8147 79.49 79.44 80.00 79.05 78.10 77.14 76.19
R
RDEL3 RDEL4 RDELS RDEL6 RDEL7 RDELS
0.0200 0.0070 0.1000 0.1000 0.1000 0.0500
RDEL11 RDEL12Z RDEL13 RDEL14 RDEL15
0.1000 0.1000 0.0250 0.0070 0.0200
RDZ3 RDZ4 RDZ5 RDZ6 RDZ14 RDZ15
0.0300 0.0100 0.1000 0.0350 0.0350 0.0600
WP3 WP4 WP5 WPS Wwp7 WP8
200 103 112 87 1100 542
WP12 WP13 WP16 WP17 WP18
454 576 1640 832 731
CONV4 CONVIO CONViZ CONV13 CONV19
0.2625 0.5031 1.3248 0.0481 0.0350
S0RPI3 S0RPI4 S0RPIS 90RPI6 90RPI7 S0RPI8
68026 10589 34 346 209147 6018
SORPI11  90RPI1Z 90RPI13 90RPI14 90RPI15 90RPIl6
8730 10486 15924 364 1036 9078

45

2002 2003 2004

94.52
62.92
88.9%
62.42
92.99
92.79
139.44
148.62
29866
97.9%6
111.79
101.00
111.79
7466
86.81
75.24

9461
6241
83.06
61.83
92.14
92.06

138.20

14721

296.58

100.46

1179
9.95

111.79
7445
85.98
7429

9296
6189
87.17
6124
9128
91.33
13697
*145.80
20450
107.00
111.79
98.89
11179
7424
85.14
7334



1.2.
1.2.
1993
EAGTP 02627
EAGINP 0.1462
EAGMP  -0.0321
EAGSNP 00352
EAGWG  -00528
EAGRMP 03143
EAGLAND 04637
EAGRAN 0.0465
EAGFIAT 01160
EAGGGU 0.0635
EAGGSB 0.0379
EAGRNCE 02508
1.2.2. 54
1993

RSNP 9754
RFDPI 83.08
RINP 92.67
RMP 8458
RWAGE 13268
EMP 27180
LAND 20548

0.2627
-0.1462
-0.0321
-0.03%52
-0.0528

03143

0.4637

0.0465

0.1160

0.0635

0.0379

0.2508

1935 996
02627 02627
-0.1462 -0.1462
-0.0321 -0.0321
-00352 -0.0352
-0.0528 -0.0528
03143 03143
04637 04637
00465 00465
01160 01160
00635 0.0635
00379 0037
02508 02508

AR EYA 77

1934

96.78
81.61
91.64
81.48
14113
2604.0
20318

1935 996
96.03 95.28
80.15 78.73
9061 8959
7849 75.61

15012 159.68

2501.0 24080

20080 19837

9454
7133
8359
7283
163.86
2325.0
1960.3

1998

0.2627
-0.1462
-0.0321
-0.0352
-0.0528

03143

1999 2000
02627 02627
-0.1462 -0.1462
-00321 -00321
-00352 -0.0352
-00528 -0.0628
03143 03143
0.4637 04637
00465 00465
01160 0.1160
00635 00635
00373 0.0379
02508 0.2508
25

1993 2000
9307 W34
7460 7327
8662 &65
6758 610
19218 20443
21520 20630
19092 18839

1.2.3. $QF2A4S 22 )4

1933
RNDE 8059
FLAT 556.8
GGU 1499
DRAIN 25369
GSB 2486.7
GSBL 6514

1984

8219
576.8
202.2

25878
25838
9735

1935 956
8428 8808
609.8 6458
2192 2189

26079 26309

26%.1 28057
940.1 9315

1997

9334

269

26519
29209
537

11289

1999 2000
10411 10955
7560 7832
2512 2515
27053 27218
31657 32957
11299 10892

2001

0.2627
-0.1462
-0.0321
-0.0352
-0.0528

03143

0.4637

0.0465

0.1160

0.0635

0.0379

0.2508

9162
7196

6272
21745
1982.0
1858.0

11408
8103
2471

2730.4

34310

10496

2002 2003 2004

0.2627
-0.1462
-0.0321
-0.0352
-0.0528

0.3143

0.4637

0.0465

0.1160

0.0635

0.0379

0.2508

2002

9091
7068
8374
60.41
231.30
1908.0
1831.3

0.2627
-0.1462
-0.0321
-0.0352
~0.0528

03143

0.4637

0.0465

0.1160

0.0635

0.0379

0.2508

90.20
69.43
82.80
58.20

18410
1804.0

2003

121.1
864.7

27954
37186
9%64.1

0.2627
-0.1462
-0.0321
20,0352
-0.0528

03143

0.4637

00465

0.1160

00635

0.0379

0.2508

89.49
68.19
81.87
56.06
261.71
1758.0
1776.0

13385
891.8
2186

28179
3871.3
9239



1.3. iR 2R RS

1.3.1.

EVA
EVAL

oA g B4R

1993

-0.1423
-1.2269

1954

-0.1423
-1.2269

1995

-0.1423
-1.2269

1.3.2. 71et sjqd

CONVINC
0.9287

QIHAT
QZHAT
Q3HAT
Q4HAT
QSHAT
QBHAT
QTHAT
Q8HAT
QSHAT
QIOHAT
QIIHAT
QIZHAT
QI3HAT
QI4HAT
QISHAT
QI6HAT
QI7HAT
QI8HAT

996

-0.1423
-1.2269

CONVADDS RCRODEF
0.01835

50428
1933
1820

904
5115
3330
1644
4736
5542

7634.1
631.6
669.8

634

18728

117.0
628.0
2385

-0.0112
EINE:
Gana
%
194 1995
49759 48746
185.4 138.8
176.9 155.9
85.6 76
508.8 474.3
243 2869
168.2 171.1
4893 4974
5774 590.2
78722 85042
643.0 643.0
669.0 668.8
69.8 705
19589 19816
4137 4214
1233 1270
664.1 681.2
2472 281

996

48253
1324
1502

748
4674
2804
1735
5110
60838

8781.0
648.2
6685

704

2014.1
4281
1232
7040

2524

1997

-0.1423
-1.2269

1997

4826.6
1278
1463

728
4644
2170
176.7
527.0
6315

81256
6694
676.1

7.0

20499
4355
1084
7423
2588

1998

-0.1423
-1.2269

1998

48227
1235
1426

no
462.1
2740
180.0

1993 2000 2001

-0.1423
-1.2269

-0.1423
-1.2269

-0.1423
-1.2269

1999 2000 2001

47742
1181
1377

636
4557
2683
1825
5578
6755

97979
6564
686.7

718

21249
4560
1107
7716
269.1

47506
1134
1333

66.4
4505
2637
1852
57289
6973

101349
6564
691.1

720

2152.8
4637
1109
7893
2722

4699.7
1083
1286
64.1
4439
2581
187.7
587.5
718.1
10456.8
662.8
692.4
70
2161.9
466.8
803
7903
2715

47

2002 2003 2004

-0.1423
~1.2269

-0.1423
-1.2269

-01423
-1.2269

2002 2003 2004

46543
1033
1238
617
4366
2522
1900
601.8
7387
10776.1
656.3
6926
719
21735
4717
80.7
7955
2723

4636.4
934
120.1
599
4323
2482
1928
6182
763.1
111570
665.0
6385
723
2189. 6
4719
815
8039

2741

46463
9.6
1176
58.7
4315
2466
1965
637.4
7924
11618.2
678.0
7115
732
22209
4883
82
821.2
2780
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2.1.2. A& 4nl=k

DIHAT
D2HAT
DD3HAT
DD4HAT
DSHAT
DD6HAT
D7HAT
D8HAT
DSHAT
DIOHAT
DLIHAT
DIZHAT
DIBHAT
DI4HAT
DISHAT
DIGHAT
DITHAT
DISHAT

2.1.3.

IMPSML
IMNPIM2
DMPSUM3
DMPSUMY
IMPSME
IMPSUMG
IMPSUNT
IMPSIMNB
IMPSMVB
IMPSUMIO
IMPSUMIL
MPIIMI2
MPSUMI3
IMPSUMI4
MPSUMIS
DMPIMI6
IMPSUMI7
IMPSUMIS

1993

45840
670
13765
64635
3532
2433
1480
4535
466.0
57256
4639
5116
1246
13889
364.9
2274
629.0
2386

1993

0.0
0.0
12340
6418.0
0.0
0.0
0.0
80
1.0
0.0
0.0
0.0
58.2
139.7
00
1104
0.0

0.1

194

46655
695
13665
6875.0
356.1
2830
1514
4648
4735
5904.2
4669
5242
119.3
14454
380.6
2393
664.1
2473

19%4

0.0
0.0
12180
6834.0
0.0
0.0
0.0
0.0
0.0
00
0.0
00
538
110.0
00
1160
0.0

01

1995

4637.3
871
1466.7
7845
386.6
2938
157.9
48038
4942
6378.2
4873
533.0
1276
15083
3876
2500
638.7
25%6.0

1995

51.0
728
13252
7865.4
679
436
43

87
124
00
150
80
61.2
2570
0.0
1230
175
79

996

737
13406
8050.3
845
569
46
93
133
00
200
19.2
680
3080
00
1470
234

106

1997

45885
946
14572
82490
402.0
3050
1634
5101
5295
68442

5633
1427
15740

30838
7457
269.2

70
749
13414
82332
993
69.4
49
100
142
00
250
221
753
3610
00
2004
34
104

45905
R86
14523
84310
4039
3108
166.7
5%66
5499
71184
5414
575.6
1509
16499
4118

7922
2783

1998

90.0
7.0
13401
84183
1135
79.1
53
10.6
151
00
281
274
87
450.0
0.0
2182
83
13.0

1999

4606.8
1023
1450.8
8609.2
4176
3164
169.3
5406
567.0
73184
563.1
586.9

17073
4195
346.9
836.1
2869

1030
373
13421
85996
131.2
882
56
113
16.0
0.0
316
385
90.8
539.0
00

585
178

2000

45806
106.1
14488
878938
254
3220
1720
%56
5857
76012
5866

1665
17593
4266
366.6

2957

103.0
449
13449
87839
1478
98
59
18
170
0.0
356
471

236

2001

45926
1100
14463
8972.1
4333
3216
1745
570.0
603.5
78426
5%.4
609.7
1749
17893
4205
456.9
9497
3074

1280
56.1
13465
8969.6
1658
1105
6.2
125
179
00
400
5.0
107.3
7170
0.0
376.6
1594
359

2002 2003 2004

45539
1140
14417
9149.4
4408
3330
1769
5842
621.2
8082.1
625.0
6209
1837
18391
4339
4787
10014
3165

1540
66.3
13465
91505
1839
1219
65
132
188
0.0
45.1
716
1163
8240
00
3980
2059
442

4326.0
1182
1437.1
9331.0
4485
3385
179.8
6004
6419
8367.8
638.0
632.2
1929
1900.0
4397
015
10559
3258

2003

180.0
736
13465
9335.7
1974
1337
69
138
187
0.0
507
787
1259
3.0
0.0
4201
2521
51.8

£5B0
125
14327
%5170
4564
- 3440
‘1833
6193
666.7
87136
6555
6437
2026
19852
4092
5255
11136
335

205.0
829
13455
9524.8

1437
72
145
206
00
570
789
1355
10620
00
423

56.5



2.1.4. A&z 714

RPHAT
RPZHAT
RPI3HAT
RAHAT
RPGHAT
RPIGHAT
RPITHAT
RPISHAT
RPIOHAT
RPIIHAT
RAHNHAT
RPIZHAT
RPILHAT
RPO4HAT
RPISHAT
RPIGHAT
RPOTHAT
RPIIBHAT

TPIQHAT
TPQLHAT

TPHAT
TRAHAT

1983

13.0453
37823

102.78
96.652

1993 1994
10654 10121
10689 107.17
11841 11850

8155 77.36

1085  103.45
129.11 9877
12876 12489

7384 74.62
7253 7513
8591 86.42
9938  109.39
11515 11423
9330 11115
91.73 91.00
86.61 83.58
11477 11486
86.96 86.73
8357 81.41
TYFAE

12.7867
3.9396

100.11
96.104

1995 996
10180 10168
66.37 6588
9519 9429
6654 65.9%
9838 97.64
9792 97.20
10992 11026
7310 73.10
7481 7569
81.80 8214
10675 11320
11178 11178
10838 107.33
8951 92.04
8374 8418
11588 1177
86.82 8798
7941 79.34

1995 1996

124166 12.4889
40212 40306

96.853 96918
96290 95.07

1997 1998
10269 10168
6536 6485
9340 9251
6536 6477
%73 9587
%48 9573
10851 106.40
7201 7083
7588 7599
8176 8129
11627 10584
11179 11179
10627 10522
9398 9198
8443 8336
2065 9846
9101 9017
791 78%

< 7H4

1997 1998
126771 126893
39122 39546
97121 95783
91529 90.726

1999

100.36
64.34
91.62
64.18
9499
9499

106.06
70.26
76.37
81.15

102.58

111.78

104.16
91.36
8315
9727
89.33
7801

1999

126418
39717

94.768
89.864

2000

101.18
63.83
90.73
6360
8413
9425

105.07
69.40
76.53
80.79
9874

111.79

103.11
81.36
&.16
96.09
83.49
71.06

2000

12,7450
3955

94665
83143

2001

9391
63.32
83.84
63.01

-9324

9351
10477
68.90
7695
80.67
10344
11179
102.06
9332
84.42
7487
87.66
76.11

12.7396
3.5587

93.961
85,072

100.95
62.81
88.94
6242
92.37
92.76

10456
68.46
TiH
80.60
97.11

111.79

101.00
93.59
8510
74.66
86.82
75.15

2002

128160
3.5660

93.982
84.758

2003

101.44
62.30
83.05
61.83
91.51
9202

102.89
67.38
7747
80.07

100.13

11178
99.95
93.07
8541
74.45
85.98
74.20

129411
35770

93842
84217

49

2004

100.09
61.79
87.16
61.24
90.64
91.28
N72
65.48
76.91
7856

101.00

111.79
98.89
90.78
8467
7425
8514

7325

12.9945
36028

92.561
83.132



50

1933 1934 1935 996 1997 1998 1999 2000 2001 2002 2003 2004

PQ 62658 58731 57871 57219 57803 57192 55880 56053 54762 54794 54851 54235
Pz 02129 02047 0.0349 00838 00850 0085 00783 00746 00707 00668 00638 00615
PGB 02570 02500 01770 01689 0.1630 01574 01505 0.1443 0.1378 01314 01261 01222
Py 00247 00221 00173 00165 00159 00154 00147 00141 00135 00123 00124 00120
PG 01966 01971 01652 01615 01590 01%8 01532 01501 0.1465 0.1428 0.1400 0.13834
a(as) 0148 01006 00372 00343 00925 00%07 0082 00860 00835 00809 00730 00779
j3(84 07379 07322 06555 06670 06684 06675 06746 06784 06855 06925 06916 0.6830
(o] 07015 07324 07294 07493 0.7612 07726 0781 07976 08120 08264 08355 0.8373
P 00945 01019 0.1038 01083 0.1126 0.1.171 01212 01254 01299 01344 01389 01432
PIQI0 25041 25975 26560 27538 28487 29458 3.03% 31260 32205 33163 34108 3.5023
FQl 03653 04094 0395 04277 04462 04053 03919 03772 0.3930 03709 03875 03985
Q2 12535 12420 12150 12145 12284 12441 12476 12555 1.2580 12583 12689 12926
Q3 02835 03235 03187 03154 03150 03148 03119 03038 03066 03030 03013 0.3020
PIQi4 06253 06489 06485 06748 07013 07015 07067 07158 07343 07404 07417 0.7339
P35 03558 03582 03655 03734 038039 0385 03928 03935 04083 04158 04229 04283
PIQg6 1219 12856 13360 12505 09805 03847 09776 09677 05455 05470 05507 0.5606
PQi7 10572 11135 11432 11973 13058 13314 13427 13502 1.3392 13351 13360 13517
P8 03965 04003 03919 03384 04113 04167, 04175 04172 04110 04070 04045 0.4064
P19 01280 01333 01361 01364 01324 01338 01344 01349 01204 01207 01210 0.1218

2.2.2. sgIPIA 9 LS

1953 1984 1995 936 1997 1998 1993 2000 2001 2002 2003 2004

VAHAT 084484 084306 084050 0.84192 084351 084320 084328 0.84449 084494 084632 084743 084719
VALHAT 045332 046007 047121 047421 046531 046800 047276 047844 046207 047008 0.47666 04793

AD 11846 11896 11903 1198 12163 12340 12427 12560 12655 12749 12811 13139
AITL 16640 176911 1.8458 1.8857 1.8574 19135 19599 20064 1.8131 18551 18990 1.54%4
AITS 02479 025075 0.2523 025452 025727 026156 0.26400 026729 026550 026793 027176 027687
TAID 13758 13816 14002 14125 14278 14515 14651 14834 14734 14872 15081 15365

1993 1994 1935 19% 1997 1998 1999 2000 2001 2002 2003 2004
TN 12045 11909 11662 11752 11.835 11869 11.858 11982 11.735 11.843 11985 12045
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